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GENERAL INSTRUCTIONS:

There are total 10 questions.
All questions are compulsory.
There are one mark MCQ questions- As per the question, there can be one answer.
There are two-mark questions. These are very short answer type questions. The answer to these questions should
not exceed 30 words.
There are four mark questions. These are short answer type questions. The answer to these questions should not
exceed 80 words.
What do you mean by Matrilineal family? 1
A) Male headed family B) Female headed family
C) Inheritance passes from mother to daughter D) Inheritance passes from mother to son
Five years plans, tribal sub plans, tribal welfare blocks have encouraged the process of tribals' ----- 1
A) Controlled integration ~ B) Fixed integration C) Partial integration D) Full integration
Assertion(A): After decades of being denied entry into temples, Dalits may build their 1
own temple , or convert to another religion like Buddhism , Christianity or Islam
Reason(R): Prolonged experience of discriminatory behaviour often produces a reaction on the
part of the excluded who then stop trying for inclusion.
a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true but R is not the correct explanation of A
¢) A is true but R is false
d) A is false but R is true
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Choose the incorrect pair:

i) Material assets: economic capital

11) Social associations: cultural capital

iii) Educational qualification: cultural capital

iv) Income: social capital

a)iii) andiv) b)ii)andiii) c¢)ii) and iv) d) i) and iv)

Explain what are the acquired traits of Tribal community?

How does integrationist view differ from isolationist view on tribal community?
What is Discrimination?

Define the term Stereotypes.

Explain the permanent traits of tribes.

Explain the three dimensions of untouchability.

End of the Question Paper
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GENERAL INSTRUCTIONS:

e There are total 10 questions.
e All questions are compulsory.
e There are one mark MCQ questions- As per the question, there can be one answer.
o There are two-mark questions. These are very short answer type questions. The answer to these questions should
not exceed 30 words.
e There are four mark questions. These are short answer type questions. The answer to these questions should not
exceed 80 words.
1 Assertion(A): In India some communities are characterized as martial races while 1
others as effeminate.
Reason(R): Many stereotypes in India are colonial creations.
A) Both A and R are true and R is the correct explanation of A
B) Both A and R are true but R is not the correct explanation of A

C) A is true but R is false
D) A is false but R is true

2 Define patrilocal family. 1
A) Male headed family B) Female headed family
C) Bride groom lives with bride’s family D) Bride groom lives with bride groom’s family

3 Social inequality is not the outcome of differences between people 1
A) Social B) Routine C) Innate D) Non-individual

4 What type of family is common among the Khasi tribe in Meghalaya? 1

A) Matrilineal B) Patrilineal C) Patriarchal D) Matriarchal



5 Define untouchability.

6 Differentiate between caste and tribe.

7 What are social resources? Explain its three forms.

8 Explain any two permanent traits of tribe.

9 Define social stratification. ‘Social stratification is a characteristic of society.” Explain.

10 Briefly discuss the National Development versus the Tribal Development.

End of the Question Paper
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GENERAL INSTRUCTIONS.:

e There are total 10 questions.
e All questions are compulsory.
o There are one mark MCQ questions- As per the question, there can be one answer.
e There are two-mark questions. These are very short answer type questions. The answer to these questions should
not exceed 30 words.
e There are four mark questions. These are short answer type questions. The answer to these questions should not
exceed 80 words.
1 Assertion(A): After decades of being denied entry into temples, Dalits may build their 1
own temple , or convert to another religion like Buddhism , Christianity or Islam.
Reason(R): Prolonged experience of discriminatory behaviour often produces a reaction on the
part of the excluded who then stop trying for inclusion.
a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true but R is not the correct explanation of A
¢) A is true but R is false
d) A is false but R is true
2 What do you mean by Matrilineal family? 1
A) Male headed family B) Female headed family
C) Inheritance passes from mother to daughter D) Inheritance passes from mother to son
3 Social inequality is not the outcome of differences between people. 1

A) Social  B) Routine C) Innate D) Non-individual



10

What type of family is common among the Khasi tribe in Meghalaya?
A) Matrilineal B) Patrilineal C) Patriarchal D) Matriarchal
Define untouchability.

How does integrationist view differ from isolationist view on tribal community?
What do you mean by social capital?

Explain the acquired traits of tribe.

Explain the three dimensions of untouchability.

Briefly discuss the National Development versus the Tribal Development.

End of the Question Paper



